
 

dfggLo ;f+;b /fdrGb| kf}8]nsf] lgjf{rg If]q ljsf; sfo{qmd cGt/ut 

cf=j=@)&#÷)&$df ;+rfng x'g] of]hgfx? M 
 

l;=g+= of]hgfsf] gfd 7]ufgf 
ljlgof]lht 

/sd -?_ 

1 ldlnh'nL cfdf;d"x sf]6f @ 200000. 

2= b]j3f6 ;fd'bflos /]l8of] b]j3f6 100000. 

3= Jf}bL s';'08] dfu{ j}bL 200000. 

4 ;'Gtnf dfu{ le/sf]6 * / ( 200000. 

5= kBHof]lt cfwf/e't k|f=lj=tf/jf/ le/sf]6 ^ 150000. 

6= Rff/3/] df]6/ dfu{ sfx'Flzjk'/ $ 200000. 

7= csnf dlxnf ;fd'bflos ejg sf]6b/jf/ $ 1000000. 

8 :jf:Yo cfdf ;d'x ZofD3f ^ 150000. 

9 ;/:jtL df=lj= ;fe'Ë eujtLk'/ 300000. 

10 lhtk'/ ufj8fF8f nufb dfu{ ;fe'ËeujtLk'/ 200000. 

11 ?D;L ;fd'bflos ejg s]zj6f/ % 100000. 

12 /rgf cfdf ;d"x ejg  Jof; g=kf=!@ 200000 

13 pbo df=lj= Jof; g=kf=* 200000. 

14 cr{n] dfu{ Jof; g=kf= & 200000. 

15 ;q;o ;fFv'nL dfu{ Sofldg 150000. 

16 Kf'/fgl8lx km'n'{Ë km]bLkmfF6  dfu{ Jof; g=kf=$ 300000. 

17 Df';]vf]nf eb| dfu{ Jof; g=kf=! 225000. 

18 Dff]xl/of6f/ cfdf ;d"x ejg  Jof; g=kf= ! 200000. 

19 ;xsf/L bfgf pBf]u Jof; g=kf= % 400000. 

20 l/l;Ë kf6g b'uf{ dGbL/ ;efsIf l/l;Ë/fgLkf]v/L 250000. 

 hDdf  4925000. 

 

 

 

 

 

 

 

 

 

 

 

 

 

  



 

dfggLo ;f+;b /fdrGb| kf]v/]nsf] cf=j=@)&#÷)&$ df lgjf{rg If]q ljsf; sfo{qmd 

cGt/ut ;+rfng x'g] of]hgfx? M 

 

l;=g+= of]hgfsf] gfd 7]ufgf 
ljlgof]lht 

/sd ? 

1 km/fsrf}/ /fDr] df]6/ dfu{ -a'NbL vf]nfdf sNe{6 

;lxt /fDr] af6f] ;kmf ug{]_ 

Jof;, Tfgx'F;'/ 350000. 

2= Rfl08b]jL d]n ldnfk cfdf;d"x, b'D;Lrf}/ Jof; g=kf= ( 300000. 

3= ;/:jtL k|f=lj=df;kmfF6 Sofldg @ 200000. 

4 Af}/]gL /fwfs[i0f dlGb/ Jof; g=kf= 125000. 

5= tfNnf] u'0ffbL bd;]/f hfd'g] ;fFu] hfg] af6f] gofF 

6«ofs ;d]t 

Hffd'g] 1000000. 

6= 5]/fË b'uf{ cfdf;d"x sf]6f ! 100000. 

7= b]j3f6 & lsrg] vf]nf l;+rfO{ of]hgf b]j3f6 150000. 

8 sflnsf cfdf ;d"x s]zj6f/ ( 160000. 

9 ;fd'bflos ejg lgdf{0f, kfy/ Sofldg ( 125000. 

10= s'dfn ;fd'bflos ejg, ;]/f Jof; ^ 125000. 

11 5fJbL jf/fxL hfu[t dlxnf ;d"x ejg, 5fJbL 3fF;Ls'jf % 100000. 

12 lgd{n p=df=lj= Jof; ! 400000. 

13 j;Gt lg=df=lj= Jof; # 350000. 

14 l;Gw' k':tsfno dfu{ ZofD3f 200000. 

15 c/gLsf] pRr df=lj=, 7"N9'Ëf ldn'{Ë * 400000. 

16 Pstf cfdf ;d"x Effg' * 100000. 

17 s]tf/;ft vfg]kfgL of]hgf 3fF;Ls'jf % 150000. 

18 sNof0f vgfn :d[lt ejg  ledfb 200000. 

19 s'dfn ufpF df]6/ af6f] Dffemsf]6 * 250000. 

20 lkkn5fk o'jf Snj /fOk'/ $,% 140000. 

 hDdf  4925000. 

 



dfggLo ;f+;b em'n jxfb'/ cfn]sf] cf=j=@)&#÷)&$df lgjf{rg If]q ljsf; sfo{qmd 

cGt/ut ;+rfng x'g] of]hgfx? M 

 

l;=g+= of]hgfsf] gfd 7]ufgf 
ljlgof]lht 

/sd ? 

1 5]/Ëf s/f8L dfu{ lgdf{0f sf]6f 1000000. 

2= g/d l5kl5k] s[lif dfu{ lgdf{0f sf]6f 150000. 

3= ;fd'bflos ejg lgdf{0f, gfh'Ë j}bL ! 200000. 

4 r/LkfgL, l;4 df]6/ dfu{ lgdf{0f /fDhfsf]6 250000. 

5= >[Ë df=lj=ejg dd{t, uf]7fbL sf]6b/jf/ 300000. 

6= l;kmn'Ë ljB't kf]n vl/b ;fe'ËeujtLk'/ 250000. 

7= ledfb o'jf Snj lgdf{0f ledfb 250000 

8 :jf::Yo rf]saf6 a; kfs{ hfg] af6f] lgdf{0f ledfb 250000. 

9 sf]6e}/jL / pGgtL cfdf ;d"x ejg lgdf{0f ZofD3f 300000. 

10= Dfu/ ;fF:s[lts ;+u|fno lgdf{0f, ;dfh ;'wf/ Jof; ! 250000. 

11 Gfful/s hfu/0f ;fKtflxs, kfj/ Jofsd, lk|G6/ 

Sofd/f / kmlg{r/ 

Jof; !) 250000. 

12 8l9jg df]6/ dfu{ lgdf{0f sf]6b/jf/ @ 200000. 

 

13 sfd'w]g' lg=df=lj= ejg dd{t ;fe'ËeujtLk'/ 150000. 

14 Affns]z lg=df=lj=ejg dd{t l5kl5k] 175000. 

15 cflbslj efg'eQm SofDk; -Uf'0f:t/ clej[l4sf 

nflu Joj:yfkg ;'wf/ / k|lzIf0f_ 

Jof; ! 200000. 

16= afndlGb/ df=lj=ejg dd{t Jof; @ 100000. 

17 lzjzlQm dlxnf ;d'x af6f] tyf l;+9L lgdf{0f Yfk|]s ! 150000. 

18 lqe'jg SofDk;, dfg]rf}sf -k':tsfno :t/ 

pGgtLsf nflu k':ts vl/b_ 

?kfsf]6 @ 150000. 

19 sNof0f vgfn :d[lt ;fd'bflos ejg lgdf{0f ledfb 150000. 

20 ;'vf}/f ab/eGHofË / u/d8L df]6/ dfu{ s]zj6f/ 200000. 

 hDdf  4925000. 

 



dfggLo ;f+;b w'j| jfUn]sf] cf=j=@)&#÷)&$df lgjf{rg If]q ljsf; sfo{qmd cGt/ut 

;+rfng x'g] of]hgfx? M 

 

l;=g+= of]hgfsf] gfd 7]ufgf 
ljlgof]lht 

/sd ? 

1 /fO{k'/ uf=lj=;=ejg b'u{] sfNv' df]6/ dfu{ 

lgdf{0f 

/fO{k'/ 1000000. 

2= ;]/fj]zL zfvf ;8s dd{t ;Def/ Yfk|]s ! 200000. 

3= E'f'=k'=;}lgs ejg Zf'Snfu08sL $ 200000. 

4 Efm/gf o'jf Snj ejg lgdf{0f s6g 5fk Effg'dtL $ 200000 

5= sNof0f :d[lt ejg lgdf{0f ledfb ! 200000. 

6= led;]g yfg tNnf] xl6ofaf6 blnt j:tL ;Dd 

df]6/ dfu{ lgdf{0f 

Ufh/sf]6 * 150000. 

7= Dflxnf pTyfg cfdf ;dx' ejg lgdf{0f c?0ff]bo # / $ 200000. 

8 ltgvf]n] b]jL cfdf ;d"x ejg lgdf{0f Zf'Snfu08sL * 200000. 

9 lyb'jf6 r]n8fF8f hf]8\g] ;8sd lgdf{0f -8'd|] 

dfu{_ 

lsx'F 200000. 

10= lzjfno u|fld0f df]6/ dfu{ ZofD3f ^ / & 250000. 

11 cGgk"0f{ cfdf ;c"xsf] kmlg{r/, kfn tyf cGo 

sfof{Nfo ;fdfu|L vl/b 

b]j3f6 @ 175000. 

12 Go' lehg o'jf Snj v]n d}bfg lj:tf/ Hffd'g] & 200000. 

 

13 pN6]:jfF/f cfdf ;d"x ejg lgdf{0f Hffd'g] * 200000. 

14 l;4 j/fxL o'jf Snj ejg lgdf{0f, kN6\ofË /fgLkf]v/L & 200000. 

15 ljZjsdf{ ;]jf  ;dfh ejg lgdf{0f Hffd'g] ( 200000. 

16= x}/fG; o'jf Snj sfof{no ;fdfu|L sDo'6/ vl/b 

tyf km'6jn k|ltof]lutf 

Jof; @ 250000. 

17 sfdw]g' o'jf Snj elnjn u|fp08 :t/f]GgtL ;fe'ËeujtLk'/ 150000. 

18 l/l;Ë o'jf Snj d~r lgdf{0f sf]6b/jf/ $ 150000. 

19 ljsf;sf nflu P]Soj4tf Jof; !! tyf gj o'jf 

Snj Jof; ! 4f/f nfu' cf}ifwL b'j{o;g tyf 

;8s b'3{6gf Go"lgs/0f hgr]tgf d"ns k|lzIfs 

k|lzIf0f -tgx'F lhNnf k|x/Lsf] ;xeflutf_ 

Jof; g=kf= 400000. 

20 b'n]uf}8f kflnª6f/ l;/sf]6 df]6/ dfu{ dd{t 

;'wf/ 

le/sf]6 @ / ^ 200000. 

 hDdf  4925000. 

 



 

Dffglgo ;f+;b 6's/fh l;Ub]nsf] cf=j=@)&#÷)&$ df lgjf{rg If]q ljsf; sfo{qmd 

cGt/ut ;+rfng x'g] of]hgfx? M 

 

l;=g+= of]hgfsf] gfd 7]ufgf 
ljlgof]lht 

/sd ? 

1   Dfbgcfl>t /Ëzfnf  Efg'dtL 1200000. 

2= ;]/fj]zL df]6/ dfu{ sflQs]af6 lu/LufpF hfg] 

df]6/ dfu{, l;Dn]–:yflgeGHofË 

Yfk|]s  250000. 

3= Gf]jfj'rf ;fd'bflos ejg  Z'fSnfu08sL g=kf= 150000. 

4 ;]/fkmfF6 s]p/fË If]q]eGHofË df]6/ dfu{ dgkfË 200000. 

5= Afx'p2]Zo ;fd'bflos ejg 3fFl/tfnj];L Z'fSnfu08sL g=kf= 125000. 

6= U'fbLeGHofË k|f=lj=sDkfp08 lgdf{0f Ufh/sf]6 200000. 

7= Affnljsf; lg=df=lj=ejg lgdf{0f  c?0ff]bo 200000. 

8 Dfbgcfl>t :d[lt ejg  600000. 

9 Df]?jf cr{n] df]6/ dfu{  ledfb 150000. 

10= 5fË–88'jf–a}s'07] df]6/ du{ 5fË 250000. 

11 Gf]jf ax'p2]Zo ;fd'bflos ejg  Effg'dtL & 200000. 

12 sf]6 sflnsf ko{6g k"jf{wf/ lgdf{0f /fO{k'/ 200000. 

13 Jf'rfvfgL ufpF c:kflSb ;8s /fO{k'/ 100000. 

14 Dfsfgk'/ cfdf ;d"x ejg lgdf{0f Z'fSnfu08sL ! 100000. 

15 NfLl:8 vf=kf=of]=kmnfd 7f6L, l3l/Ë ;'Gwf/f 200000. 

16= km/s Ifdtfx?sf nflu ;xof]uL ;fdfu|L 

ljt/0f÷uf]s'n cUgL lzvf k|lti7fg 

 150000. 

17 sf]6 v8\usfnL lxdfnL 9f]/jf/fxL df]6/ dfu{ 9f]/lkmbL{ 200000. 

18 ;fxf/f ;xsf/L ;+:yf ejg, lsx'F 200000. 

19 j/fxfkfgL ;fd'bflos ejg, Dffemsf]6 100000. 

20 E'fªu|] gofF ufpF s'df/L k|f=lj= df]6/ dfu{ Z'fSnfu08fsL 150000. 

 hDdf  4925000. 

 

 

 

 



 

 

Dffglgo ;f+;b cfzf sf]O/fnfsf] cf=j=@)&#÷)&$ df lgjf{rg If]q ljsf; sfo{qmd 

cGt/ut ;+rfng x'g] of]hgfx? M 

 

l;=g+= of]hgfsf] gfd 7]ufgf ljlgof]lht 

/sd ? 

1   Zflxb :d[lt ;efxn lgdf{0f Jof; g=kf=@ 1200000. 

2= Zflxb :d[lt u|Gy k|sfzg, tgx'F  300000. 

3= >L dfx]Gb|L df=lj= lemg'jf6f/ Sofldg 200000. 

4 Hfgr]tgf cfo cfh{g, ;dfh ;]jf ejg lgdf{0f Hffdg'] 200000. 

5= Kfqklqsf k|f]T;xfg÷sDKo'6/ Pj+ pks/0f vl/b 

/ sfof{no Joj:yfkg –cfjxfg b}lgs÷pb\3f]if 

b}lgs, bdf}nL 

Jof; g=kf= 150000. 

6= Affln3f6 ;+/If0f If]q ljsf; ;ldlt, gofF6f/ -

;fd'bflos ejg lgdf{0f_ 

l3l/Ë ;'Gwf/f 250000. 

7= >L lzj cfwf/e"t k|f=lj= -‰ofn 9f]sf lgdf{0f_ l3l/Ë dfemsf]6 200000. 

8 >L 1fgHof]lt cfwf/e"t k|f=lj=-u|fp08 ;Dofpg]_ lsx'F 100000. 

9 >L cr{ny'd cfwf/e"t k|f=lj= -ejg dd{t 

;Def/_ 

Z'fSnfu08sL g=kf= 100000. 

10= >L k+rd'lgb]j df=lj=-p=df=lj=_ leqL ;8s 

sfnf]kq 

Zf'Snfu08sL g=kf= 500000. 

11 ledfb–hnf}bL–v]qm]6f/ df]6/ dfu{ af6f] sl6Ë ledfb 200000. 

12 ldng6f]n dfu{ df]8 9nfg Zf'Snfu08sL $ 150000. 

13 Hfgtf dfu{, sd]/]kfgL b]lv 7"nLkf]v/L ;Dd af6f] 

rf}8f kfg{] 

dgkfË 200000. 

14 bzufx ;fd'bflos ejg lgdf{0f /fO{k'/ ! 200000. 

15 5JbL cfdf ;d"x ejg lgdf{0f Zf'Snfu08sL g=kf= !$ 200000. 

16= Dflxnf ;+hfn ;fd'bflos ejg lgdf{0f lkm/lkm/] 150000. 

17 Uff]s'n ;fd'bflos cWoog s]Gb|, kmlg{r/ vl/b /fO{k'/ # 100000. 

18 9f]/ If]qsf] ljsf; ;d:of ;Defjgf / r'gf}lt 

ljifos cGt/lqmof sfo{qmd, 

9f]/lkmbL{ 100000. 

19 Dflxnf g]t[Tj ljsf; Pj+ :yfgLo txdf dlxnf 

k|ltlglwTjsf] ;jfn ljifos cGt/lqmof sfo{qmd 

tgx'F 225000. 

20 o'jf nlIft v]n sfo{qmd Tfgx'F 200000. 

 hDdf  4925000 

 



Dffglgo ;f+;b z+s/ e08f/Lsf] cf=j=@)&#÷)&$ df lgjf{rg If]q ljsf; sfo{qmd 

cGt/ut ;+rfng x'g] of]hgfx? M 

 

l;=g+= of]hgfsf] gfd 
ljlgof]lht /sd 

?= 

1 jf/Lkmf+^ ;fd'bflos ejg -efg'_ 500000.0 

2 j]n e`HofË cfdf ;d'x -#f+;Ls'jf_ 100000.0 

3 u}/L:j/f cfdf ;d'x -;lt:jf+/f_ 300000.0 

4 gfnf pkNnf]kmf+^ hgtgdfu{ -#f+;Ls'jf_ 200000.0 

5 eË]/L:yfg o'jf Snj -ldn'{Ë_ 200000.0 

6 lzjzlSt cfdf ;d'x 100000.0 

7 lqe"jg SofDk; -?kfsf]^_ 1000000.0 

8 ;f+v'nL cfdf ;d'x -efg'_ 100000.0 

9 sdnjf/L, UofDkfcfdf ;d'x -alGbk'/_ 200000.0 

10 

(fk]| vx/] k]mbL+rf}tf/f r'g](f^ df]^/ dfu{ 

 -alGbk'/_ 500000.0 

11 efg'eSt SofDk; -bdf}nL_ 200000.0 

12 j]b Jof; j[$f>d -bdf}nL_ 100000.0 

13 ldnLh'nL cfdf ;d'x -;ltZj/f_  100000.0 

14 pFm zflGt ejg lgdf{0f -8'd|]_ 300000.0 

15 pFm zflGt ejg lgdf{0f -k'sf]{6_ 200000.0 

16 ldlnh'nL s[lif pTkfbs ;xsf/L 200000.0 

17 sflnkf]v/L rf]s df]^/dfu{ -rf]s_ 300000.0 

18 t'/t'/] td' ;dfh -efg'_ 100000.0 

19 gfa|'Ë b]lj dlbG/ -j/HofË_ 100000.0 

20 lj=lk= :d[lt k'sf]{^ 125000.0 

hDdf /sd  4925000.0 

 


